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MAY, 2007
ASSOCIATESHIP EXAMINATION
- "AGRICULTURAL INSURANCE
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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I. i) A farmer growing Maize and Groundnut crops during Kharif 2006 is 12
covered under NAIS: The crop loan availed, and the other details of '
which are as follows - ,

‘Parameters T Maize | Groundnut

i) | Crop Loan availed Rs. 15,000 | Rs. 12,000

ii) | Value of Threshold yield Rs.18,000 | Rs. 15,000

iii)| Value of 150% of Average yield |Rs. 30,000 Rs. 36,000

iv) | Sum insured chosen by the farmer |Rs. 25,000 | Rs. 20,000

v) | Premium Structure : : ;
- Flatrate 2.5% 3.5%

- Acturial rate ' 2.25% - 8.0%
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On the basis of the above information, what was the total premium-
paid by the farmer for insurance, assuming no subsidy? :

ii) What are the characheristics of the Indian Agriculture? 4
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- Discuss any two; . ' 4 6 each
" 1) Nature of Hail risk , -

i) Problems associated with crop insurance in Developing Coungries.

i) Period of insurance under Horticulture/plantation insurance policy
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Differentiate between any three of the following: ~ 4each
i) Crop insurance and Relief L
- 1) Premium rates of Broiler and Layer under poultry Market Aggreement -
iii) Benefits of Gramina personal Accident and Janata personal Accident
. Insurance o o :
iv) Long Term discount & Group Discount under Agricultural pumpset
Insurance policy
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2 15 16
3 12 7
4 8 20
5 14 2
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" iii) Loss assessment in case of localized calamities
iv) Roles & Responsibilities of Implementing Agency
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a) Statethe ‘Scope’ and 'Applicability' of Agricultural pumpset Insurance. 6 each
b) In a poultry farm with 2 batch of 500 Broiler birds, the weekly
mortality for 7 weeks is as follows:

mortaty Tor / s S e

Week Mortality(birds) Valuation(Rs./bird)

T 3 5
2 5 16
3 12 o
4 8 20
5 14 22
6 7 25
7 15 8

With 5% mortality used as 'Excess’, what is the amount deducted
from the claims payable towards mortality?
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Explain any three from the following with reference to NAIS: “4each
i) Eligibility of Farmers for coverage
ii) Sample Size of crop cutting Experiments for estimating yield
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Write short notes on any three of the followmg 4 each

i)  Agrarian Reforms.
ii) Anthrax ‘

- iii) Problems associated with Indmdual Approach' based crop insurance

iv) HoneyBee insurance

mmmmwmmamm (% 3 4 3is)
i) A (s A A )

i) G & & 2 v wfn o

iii) aﬂwgsﬁwﬁw@a(qﬁw)l

Explain the following features of Cattle insurance Market Agreement 4 each
i) Insurance Coverage (Standard & PTD) ; '
if) Claims procedure of PTD

- iii) Scope (defi inition) of Scheme animals
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Elucidate . 6 each

a) Principal Benefits of Agnculmral Reinsurance
b) Risks coveredunderP:lotSchemconSeedCropInsumnce(PSSCI)
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Discuss different criteria for classifying crop insuarnce with suitable 12
examples.
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10. State 'right or ‘wrong' and explain why it 1s s0. 3 each

i)
ii)

i)
iv)

Crop insurance is a means of protecting the farmers against
uncertainities of farm incomes.

Indian breeds of cattle are utilized in other countries for genetic
transfer of qualities.

NAIS covers (insures) all commercial/horticultural crops.

Broiler (poultry) is covered under insurance from 1 dayto 18 weeks.
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